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1. lnx = logex .  ללא  מחשבון,  מהו  ערכו  של  lne ?  ___
· חוקי  הלוגריתמים  חלים  על  ln:  
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ג.  lnak = __ ______            דוגמא:  1. lne5 = _.___ = _  2. 
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נגזור  את  הפונקציות  הבאות:

2. y = 2 lnx  (   
[image: image6.wmf]__

x

y' = 
3. y = lnx2   (   לפי  חוקי  לוגריתמים  y = _ ____     (     
[image: image7.wmf]__

x

y' = 
4. 
[image: image8.wmf]2

yln

x

=

   (   לפי  חוקי  לוגריתמים  y = ____ - ____     (     
[image: image9.wmf]1

__

-

y' = 
5. 
[image: image10.wmf]ylnx

=

   (  לפי  חוקי  חזקות  y= _____  (  לפי  חוקי  לוגריתמים  y = 0.5____
(    y' = _____
6. 
[image: image11.wmf]x

yln

5

=
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7. y = x lnx   (  לפי  חוקי  נגזרת  בכפל  
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עבודה  נעימה
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